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Cuadro 10 (continuación 5)/Table 10 (continued 5)
El Salvador: tablas abreviadas de mortalidada

 El Salvador: abridged life tables a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.029 0.028  100 000  2 844  97 848 0.970 b 6 426 033 64.3
1 4 0.001 0.006  97 156   535  387 224 0.995 c 6 328 185 65.1
5 5 0.000 0.002  96 620   239  482 505 0.997 5 940 961 61.5

10 5 0.001 0.004  96 381   427  480 840 0.991 5 458 457 56.6
15 5 0.003 0.013  95 954  1 223  476 715 0.982 4 977 617 51.9
20 5 0.005 0.024  94 732  2 249  468 036 0.972 4 500 901 47.5
25 5 0.006 0.032  92 483  2 945  455 051 0.967 4 032 865 43.6
30 5 0.007 0.035  89 538  3 138  439 843 0.964 3 577 815 40.0
35 5 0.007 0.036  86 400  3 137  424 157 0.962 3 137 972 36.3
40 5 0.008 0.040  83 263  3 315  408 028 0.957 2 713 815 32.6
45 5 0.010 0.047  79 948  3 741  390 390 0.948 2 305 787 28.8
50 5 0.012 0.058  76 208  4 434  369 954 0.934 1 915 397 25.1
55 5 0.015 0.075  71 774  5 355  345 481 0.914 1 545 443 21.5
60 5 0.021 0.099  66 419  6 569  315 672 0.884 1 199 962 18.1
65 5 0.029 0.135  59 850  8 088  279 030 0.837  884 290 14.8
70 5 0.043 0.195  51 762  10 101  233 558 0.761  605 260 11.7
75 5 0.068 0.293  41 661  12 219  177 756 0.645  371 702 8.9
80 5 0.114 0.442  29 442  13 025  114 646 0.493  193 946 6.6
85 5 0.188 0.622  16 417  10 211  56 556 0.333  79 299 4.8
90 5 0.291 0.786  6 206  4 875  18 839 0.195  22 743 3.7
95 5 0.421 0.898  1 330  1 194  3 665 0.061 d  3 904 2.9

100 ω 0.569 1.000   136   136   239   239 1.8
Mujeres/Females

0 1 0.023 0.023  100 000  2 274  98 100 0.975 b 7 331 624 73.3
1 4 0.001 0.005  97 726   473  389 642 0.996 c 7 233 524 74.0
5 5 0.000 0.002  97 253   179  485 818 0.998 6 843 882 70.4

10 5 0.001 0.003  97 074   257  484 728 0.997 6 358 063 65.5
15 5 0.001 0.004  96 817   419  483 037 0.995 5 873 335 60.7
20 5 0.001 0.006  96 398   534  480 653 0.994 5 390 298 55.9
25 5 0.001 0.007  95 863   638  477 722 0.993 4 909 645 51.2
30 5 0.002 0.008  95 225   777  474 184 0.991 4 431 923 46.5
35 5 0.002 0.011  94 448  1 001  469 738 0.987 3 957 739 41.9
40 5 0.003 0.015  93 447  1 374  463 801 0.982 3 488 001 37.3
45 5 0.004 0.021  92 073  1 924  455 555 0.975 3 024 200 32.8
50 5 0.006 0.030  90 149  2 716  443 955 0.963 2 568 645 28.5
55 5 0.009 0.044  87 433  3 825  427 602 0.946 2 124 690 24.3
60 5 0.013 0.065  83 608  5 398  404 545 0.920 1 697 088 20.3
65 5 0.020 0.096  78 210  7 501  372 298 0.878 1 292 542 16.5
70 5 0.032 0.150  70 709  10 631  326 967 0.807  920 244 13.0
75 5 0.055 0.244  60 078  14 654  263 753 0.692  593 278 9.9
80 5 0.098 0.392  45 423  17 799  182 620 0.542  329 525 7.3
85 5 0.161 0.566  27 625  15 622  99 068 0.383  146 905 5.3
90 5 0.253 0.735  12 003  8 823  37 957 0.238  47 837 4.0
95 5 0.371 0.864  3 180  2 748  9 031 0.086 d  9 881 3.1

100 ω 0.509 1.000   432   432   850   850 2.0

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


